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x*—1
X+5

. Find the domain of the function, f(x)=

(A) (=0, —1JU[L, ) (B) (=0~ U (L) (C) (=25 U(5,)
(D) (=0, -5)U(-5,) (E) (0,5 U(-5-1]U[L )

. Find the domain of the function, f(x)= %.
(A) (=0, —2]U[-1,0) (B) (o0, —2)U (-1 ) © (-2-1)
(D) (—o0,0) (B) (—0,-2)U(-2,-)U(-1L )

. Find the slope of the curve, f(x)=3x*+4e>®, atx =3.
(A) 18+ 4e™ (B) 18+ 20e"” (C) 9+20e”
(D) 9+20¢° (E) answer not given

. Solve for x: In(x—2) +In(x+2) =5.
(A) Ja+e® (B) —4+e® (€) +V4+e"
(D)3 (E) answer not given

. 1f 800 is divided into parts proportional to 2, 9 and 29, the smallest part is

(A) 580 (B) 240 (C) 220
(D) 40 (E) 180
. Evaluate il
210!
(A) 24 (B) undefined (C) 12

(D) 4 (E) 60




7. Find the slope of the normal line to y =sin(3x), when x = 0.
(A)3 (B)1 (C) 173

(D)-1 (E)-3

8. Find the slope of the line tangent to y = tan™(x), when x = 0.
(A)3 (B)1 (©) 173

(D) -1 (E) -3

9. Find the value of ¢ guaranteed by the Mean Value Theorem, given the function y = JX, over the
interval [1, 4].

(A) 2 (B) 2.25 (C) 2.5

(D) 2.75 (E)3

10. Find the area of the figure defined by 3x* +3y® —12x+18y —61=0.

(A) 100z (B) 100z (C) 1007
9 3
(D) 3007 (E) answer not given

2
11. Inthe formula, y = If“_bt' if k is doubled, b, X, and t are held constant, and the result of y is quadrupled,
X

what must have happened to a?

(A) kept constant (B) doubled (C) quadrupled

(D) multiplied by 8 (E) multiplied by 16

12. When 3x’ +2x* +3x+1 is divided by x — 1, the result is .
(A) -3 (B)-1 (©)0

(D) 3 (E) 9



13. Calculate lim—— %>
x5 3X° —19x + 20

(A0 (B) undefined

(D) 1/9 (E) 1/7

14. Evaluate i®[5i% +7i].
(A)5i+7 (B)7i+5

(D) 7i-5 (E) answer not given

JIx-=11 ifx>4

For questions 15 — 17, suppose f(x) = .
(x-1)° if x<1

15. Find the domain of f(x).

(A) (—0,1]U(4,) (B) (—0,1]U (11, 0)

(D) (—=1]U(4,1)U(11,0) (E) answer not given
16. Find the range of f(x).

(A) all real numbers (B) (=0,0)U(0, )

(D) (—o0,1]U (4, ) (E) answer not given

17. Evaluate f(27)- f(0).
(A)3 (B)S

(D) 4 (E) answer not given

(C) 1/11

(C)5i -7

(C) (=0, JU[11,)

(C) (—OO, 1) U (l! OO)

(€)1

18. The perimeter of an equilateral triangle is 30. Find the area of this triangle.

(A) 75 (B) 150

(D) 50+/3 (E) answer not given

(C) 25\3



19. The perimeter of a 30-60-90 right triangle is 15+54/3. Find the area of this right triangle.

(A) 75 (B) 150 (C) 2543

(D) 504/3 (E) answer not given

20. Solve the equation: 2sin® x—sinx—1=0 in the interval [0, 27].

T Ir 1lx 7 4r Srx T 2w Arx
(A) A A (B) AV A (C) T~ T

2 6 6 2 3 3 2 3 3
(D) %%% (E) answer not given

21. Eliminate the parameter in the pair of parametric equations: x =3t +5, y = 9t* —14.
(A) y=x*+10x+11 (B) y=x?+10x-11 (C) y=x2-10x+11

(D) y=x*-10x-11 (E) answer not given

22. Find the polar representation of the Cartesian point (3, 4).

(A) (.927, 5) (B) (5, .927) (D) (5, 53.13)

(D) (53.13, 5) (E) answer not given

23. Find the 13" term in the arithmetic sequence: 4,7,10, ...

(A) 37 (B) 40 (C) 43

(D) 46 (E) 49

24. Find the 11" term in the geometric sequence: 2,3,4.5,...

19683 6561 2187
A) —— B) — C) —
()256 ()128 ()64
(D) 59049 (E) answer not given

512



o n+2
25. Find the sum:; ZZG)
n=1

128 32 8
A) — B) — C) -
) 147 ®) 21 © 3
512 )
D) — E) answer not given
(D) 1029 (E) g

. 4 6
26. Compute the determinant of A: A= 3 7

(A) 2 (B) -7 (C) -10

(D) 10 (E) answer not given

5.3
27. Calculate: L (x> —x)dx

(A) 16 (B) 32 (C) 64

(D) 128 (E) answer not given

28. Bob travels 10 miles in 32 minutes by bike, and 42 miles in 39 minutes by car. What is Bob’s average
speed for his total 71 minute journey?

(A) 39.944 mph (B) 40.944 mph (C) 41.944 mph

(D) 42.944 mph (E) 43.944 mph

29. Solve: In(v/x}>2
(A) (&) (B) (~=0.e) (€) (~=0.e%)
(D) (e*,) (D) answer not given

30. The fourth term in a geometric sequence is 15. The ninth term is 87. Find the common ratio of the

sequence.
87 87 87

A /— B) 3— C) 4—

(A) 15 (B) 15 (©) 15

(D) 5 % (E) answer not given



